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Shouo qbsdbé'ekg a“ worlkk (no scm'\'ch Pq)cr caleulahons omitted or menial C‘tkulahon_f unm M)
" onthis sheet in a dearly cxgqmz 4w abeling problems | og . e
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T a5 q-’!;‘
b1= ([)—2) b;‘:“ (\)l) V= (\IZ) ._‘ ad-'bc -C qx .

a). Make a c\(aqmm (lqbe\qxeﬂ of the veehors b,,B’z NV and including the pam“eloqmm
\'epreseﬂ\'ing the \'Jro)echms aleng the axes of B, m\E’z of the vecto~V,
B) From your dtqgmm , 9uess g_ﬁz_o_x\ma\e (mugk) :\;es ofF the cordinate valves
i = 4 the—basis Ln;ou
o oordir »
Cfinal answer: y,=u Jya= e ]

werse matnx or mw reduction

d) Wols dose was your gwess I (Dont Changs yeur guess now ).




